
Answer on Question #83863 – Math – Statistics and Probability 

Question 

 

Variance of 𝑥 = 9  

Regression equations 8𝑥 − 10𝑦 + 66 = 0, 40𝑥 − 18𝑦 − 214 = 0  

Find the standard deviation of 𝑦. 

  

Solution 

On solving the two equations, we can obtain the mean values for 𝑥 and 𝑦 

8𝑥 − 10𝑦 + 66 = 0 

40𝑥 − 18𝑦 − 214 = 0 

 

40𝑥 − 50𝑦 + 330 = 0 

40𝑥 − 18𝑦 − 214 = 0 

 

40𝑥 − 50𝑦 + 330 = 0 

32𝑦 − 544 = 0 

 

40𝑥 − 50(17) + 330 = 0 

𝑦 = 17 

 

𝑥 = 13 

𝑦 = 17 

 

8𝑥 − 10𝑦 + 66 = 0 

𝑦 =
4

5
𝑥 +

33

5
 

𝑏𝑦𝑥 =
4

5
> 0 

 

40𝑥 − 18𝑦 − 214 = 0 

𝑥 =
9

20
𝑦 +

107

20
 

𝑏𝑥𝑦 =
9

20
> 0 

Coefficient of correlation 

𝑟2 = 𝑏𝑦𝑥 × 𝑏𝑥𝑦 

𝑟 > 0, 𝑟 = √
4

5
∙

9

20
=

6

10
=

3

5
 

 

𝑉𝑎𝑟(𝑋) = 𝜎𝑋
2 = 9 => 𝜎𝑋 = √9 = 3 

𝜎𝑌 =
𝑏𝑦𝑥𝜎𝑋

𝑟
 



𝜎𝑌 =

4
5

(3)

3
5

= 4 

Answer:  𝜎𝑌 = 4. 
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